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W189

2.2k

W189

2.2k

Dz4

3V3

Dz4

3V3

W172

120

W172

120

W173

330

W173

330

W186

22

W186

22

W99

220

W99

220

C56

47n

(~2 - 3kV)

C56

47n

(~2 - 3kV)

IC3

UA710 (DIL16)

IC3

UA710 (DIL16)

2

3

4

9

11

6

W106

22k

W106

22k

D6

4 x 1N4148

D6

4 x 1N4148

W142

10k

2W

W142

10k

2W

W38

6.8k

W38

6.8k

T26

BF246

T26

BF246

W120

3.3k

W120

3.3k

W101

100

W101

100

C63

100n

C63

100n

T36
BC546B

(?)

T36
BC546B

(?)

IC7B

7410

IC7B

7410

IC6A

7400

IC6A

7400

W76

4.7k

W76

4.7k

W114

10k

W114

10k

W183

1.5k

W183

1.5k

W178

1.8k

W178

1.8k

W196

1.5k

W196

1.5k

P18

1K

SET = 0.45

(?)P18

1K

SET = 0.45

(?)

C119

4700u

C119

4700u

D23

(?)
4 x 1N4007

D23

(?)
4 x 1N4007

T23

TIS43

T23

TIS43

W103

1Meg

W103

1Meg

W74

4.7k

W74

4.7k

C128

100n

C128

100n

W150

3.3k

W150

3.3k

W100

22k

W100

22k

C90

1u

C90

1u

W117

220

W117

220

C21

220n

C21

220n

W15

126k

W15

126k

W36

6.8k

W36

6.8k

C41

22p

C41

22p

W102

150

W102

150

C132

100n

C132

100n

W93

3.3k

W93

3.3k

T10

BC546B

(?)

T10

BC546B

(?)

C95

1n

C95

1n

C108

100u

(?)

C108

100u

(?)

L6

5

L6

L6

5

L6

C107

100u

C107

100u

W174

1k

W174

1k

T42

Q2N2219A

T42

Q2N2219A

C125

100n

C125

100n

C114

100u

C114

100u

W92

3.3k

W92

3.3k

W96

1k

W96

1k

P12

470

SET = 0.5

P12

470

SET = 0.5

W121

3.9k

W121

3.9k

P4

470
SET = 0.5

P4

470
SET = 0.5

W65

330

W65

330

T19

BC546B

(?)

T19

BC546B

(?)

W63

1k

W63

1k

IC7A

7410

IC7A

7410

W31

4.7k

W31

4.7k

C49

100p

C49

100p

D4D4

C89

1u

C89

1u

W135

470

W135

470

W85

100

W85

100

W86

160

W86

160

W37

4.7k

W37

4.7k

C62

100p

C62

100p

W162

1k

W162

1k

T39

BD244A

(?)

T39

BD244A

(?)

W164

4.7Meg

W164

4.7Meg

W169

3.3k

W169

3.3k


